80 EFEFEMEHNNFETRAS

HaE®x
BFEEE
ERLEHHRE @ EHR) 11— ———— 34 ERaS/H—X (RER)
A—1—1 E—1-—1
BERDERKRIST (@EWLR) 2 ————— ———————— 35 ERVSTRABRIAFR—YDER (BER)
A—2—1 F—2—1
#HARSI—ZXBFHRAK—Y (BER) 3 —— — 36 #REVEHHRIST (FNIR)
A—1—2 E—1-2
BEAR—YLEAFHRE (BWLR) 4 ———— L 37 FALEHHRIST (E&R)
A—3—1 F—3—1
SEREYyY  (Lig#E) 5§ —— —— 38 RiEIF(4—X (BRIR)
A—1-3 E—1-3
Ah4HR—OR (RER) 6 ———— 39 \FELEHRE (EHR)
A—2—2 F—2—2
WIEBRRAR—YDER (BERER) 7 ——— —— 40 E4IRRAVH—X (ERR)
A—1—4 E—1—4
BERRAR—YDER EHR) 8 ———— 41 RRR—YLEH (BHR)
A—3-3 F—3-3
REFWS44A0X (GhER) 99— —— 42 FERAR—YLEHR (BHR)
B—1—1 F—1—1
KRFUMRE—X  GEER) 10— 43 iR —Y (BRR)
A—2-3 F—2—3
DRELEFRIST (EER) 11— —— 44 LBELEHHIST GERIR)
B—1—2 F—1—2
RETDEFH®RIST (BHR) 12— e 45 ERER—RR—LHFT (ERBR)
A—3—2 F—3—2
BIEIz=yHR (FEHBF) 13 — ———— 46 ERS4H—R (FhiaR)
B—1—3 F—1—3
KBS 1=FR—ZKR—LH5T  (AWLR) 14— e 47 RECa=T7RRE (EHR)
A—2—4 I F—2—4 BIL s Sy —X 2=y
EIVEHRE (KSR 15— 4 BABHRAR-VDER (RILR)
B—1—4 F—1—4
FERR (BHR) 16 ———— 49 HTaz=7 (BHR)
D—4—1 D—4—-2
D-13B%
ME7ZENRVR (BRR) 17— —————— 50 #Et{kN\EES (BHR)
c—1—1 G—1—1
RHRBHRRAR—YDER (FNR) 18 ———— ———— 51 &mh7A—X (BFR)
D—2-1 G—2—1
$ASOUTH (EBRR) 19 ——— —————— 52 WAYa=F7H5T GhfaR)
c—1-2 G—1-3
mEI744—X (BWMR) 20 ———— - 53 KEYYH-—X (FNIR)
D—3—1 G—3—1
HBMNFvFRR—YDER EER) 21— ———— 54 {kARSYH—X (X7 R)
c—1-3 G—1-5
ENB-ERARNES (ERBR) 22— ———— 55 3ILUJBC (BWR)
D—2-2 G—2-2
KBIVE—RAR—ZKR—NH5T @ILR) 23 ———— —— 56 LROEHRIST (R&R)
c—1-4 —1G—1-2
NREL @FHOR) 24— 571 BHL1=7—X (GUERR)
D—3-3 G—3—3
N2IVEHHRIZT (BER) 26— | 7174 58 HRERR—YDEEHAFHRE (MR
D—1-1
EAMTARSEFEHRTRER (FHFR) 26 ——— —— 59 ME=#EIST (RER)
D—2-3 H—1-1
HEDIMREIBOYS (BLR) 27 ——— ————— 60 ABBARKXBRAR—VIER(FIR)
D—1-3 G—2—-3
2B A= LR (EBR) 28— —— 61 [—JNLNRRR—YDEMH (HEER)
D—3-2 H—1-2
IW#EAY  CGREFF) 29— 62 t&IItE (EBR)
D—1-5 G—3—2
FHEFSIVX (FHR) 30 ————— — 63 F-BAMRAR—YLERAFRE (BIMIR)
H—1-3
RILE#EYy—IR  (HWLR) 31 D—2—4 ——————— 64 BRREEIM)— (i)
D—1—-2 [—— G—2—4
FREA—LTIVX  (GHIBR) 32 65 ERDVEHHRIST (EER)
H—1—-4

66 =HEJIEEARR—YEH (BER)

D—1-4
ENOEHHIST (EBR) 33—

X£188 A—XEBS -B—HEHVINERAIKE C—FEHLBA -D—EFHEKG (5:4) - E—W/FVILNERABKS -F—IUHEBKYE -G—HEKBEGHE) H-
* (A*B+C-E-F-HEB LRI R2—) (D-GRIGII8EEI0HRE2—1)
AX&28H A—XKEBE -D—&FHHKIE -F—ILEIKE -G-THEKE (OBAXS—)

W}
it
&
i

X&3HH A—XKEBE -D—&FHHKIE -F—ILEIKE -G-THEKE (OBRXS—)

X&4BB -ERE F-HE o FHIKE
-EREE EoHE 11K FEHXS CREBE 13K R IRIG



